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Section : Part-A-General Intelligence and Reasoning

Q.1 Select the figure from among the given options that can replace the question mark

(?) in the following series.

o o]
. ?
o ® =
Ans
X1,
O
X2
o
& 3.
®
o 4.
®

Question ID : 26433080503
Status : Answered
Chosen Option : 4

Q.2 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 riddle
2 river
3 rightful
4 ring
5 risk

Ans 7 1.13452
X 212345
X 3.13245
X 412453

Question ID : 26433069325
Status : Answered
Chosen Option : 1




Q.3 In a certain code language, ‘EXAM’ is written as ‘625214’ and ‘TEST’ is written as
2162021°. How will ‘ASSESSMENT’ be written in that language?

Ans X 1.22020620201465121
< 2.22020620201461512
/< 3.22020602201461521
o 4.22020620201461521

Question ID : 26433087254
Status : Answered
Chosen Option : 4

Q.4 Six family members Viraaj, Deepu, Noor, Prince, Suman and Taran are sitting around a
circular table facing the centre. Viraaj is sitting to the immediate right of Noor. Prince
is an immediate neighbour of both Viraaj and Deepu. Suman is sitting third to the right
of Viraaj. Noor is sitting second to the left of Prince. Who is the immediate neighbour
of Deepu and Viraaj?

Ans X 1.Suman
o 2. Prince
#< 3. Taran
< 4. Noor

Question ID : 26433068866
Status : Answered
Chosen Option : 2

Q.5 In acertain code language, FATHER is written as ‘IFWMHW’, and SISTER is written as
‘VNVYHW’. How will ‘UNCLE’ be written in the same code language?

Ans X 1.XSHQl
X 2. XTGRH
" 3. XSFQH
X 4. XSGQH

Question ID : 26433067989
Status : Answered
Chosen Option : 4

Q.6 Six students are sitting around a circular table facing the centre. Brianna is sitting
second to the right of Mark. Felix is sitting second to the left of Mark. Ann is the
immediate neighbour of Brianna and Felix. James is sitting third to the left of Brianna.
Afreen is sitting second to the right of James. Who is sitting between Afreen and Ann?

Ans X 1. Mark
< 2. James
«” 3. Brianna
< 4. Felix

Question ID : 26433081782
Status : Answered
Chosen Option : 3




Q.7 Which two numbers(not digits) should be interchanged in the following equation to
make it correct?
56 + 16 x 8 + 45 x 13 = 697

Ans X 1.8and 13
¢ 2.16and 8
/< 3.16and 45
75 4.8and 45

Question ID : 26433090136
Status : Answered
Chosen Option : 2

Q8 select the option figure in which the given figure is embedded as its part (rotation

is not allowed).

<

Ans

Question ID : 26433069535
Status : Answered
Chosen Option : 2




Q.9 Which two signs should be interchanged to make the below equation mathematically
correct?
24-36x5+108+18=18

Ans X 1.+and -
&K 2. —and +
¢ 3. +and x
X 4. +and +

Question ID : 264330117523
Status : Answered
Chosen Option : 3

Q10 A paper is folded and cut as shown below. How will it appear when unfolded?
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Question ID : 26433089787
Status : Answered
Chosen Option : 4




Q.11 Which of the following numbers will replace the question mark and complete the given
number series?
125, 88, 63, 46, ?

Ans X 1.35
& 2.33
< 3.38
X 4.37

Question ID : 26433069595
Status : Not Answered
Chosen Option : --

Q.12 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
GSLC, AMOF, UGRI, ?, IUXO

Ans X 1.0ULC
X 2. DPGE
/< 3.DSTN
« 4. OAUL

Question ID : 26433074751
Status : Answered
Chosen Option : 4

Q.13 Which of the following terms will replace the question mark (?) in the given series?
?, LSEO, NRDN, PQCM, RPBL

Ans X 1.PFJO
X 2.FPJI
X 3.TFPJ
o 4. JTFP

Question ID : 26433068983
Status : Answered
Chosen Option : 4

Q.14 Select the correct mirror image of the given figure when the mirror is placed at MIN

as shown below.

6ZkBMVd
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v @SKBWWACY

Question ID : 26433080798
Status : Answered
Chosen Option : 4




Q.15

Ans

In a certain code language,

‘A + B’ means ‘A is the sister of B’,

‘A — B’ means ‘A is the father of B’ and

‘A x B’ means ‘A is the brother of B’.

How is Rrelatedto Sif Q+ R—-P x N-S?

/5 1. Father
o 2. Father’s father
/5 3. Father’s brother
/< 4. Brother

Question ID : 26433070370
Status : Answered
Chosen Option : 2

Q.16

Ans

In this question, three statements are given, followed by two conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follows/follow from
the statements.

Statements:

All mobiles are computers.

Some computers are furniture.

Some furniture are tables.

Conclusions:

I. Some tables are computers.

Il. Some mobiles are furniture.

75 1. Both conclusions | and Il follow.
< 2. Only conclusion | follows.
«” 3. Neither conclusion I nor Il follows.

25 4. Only conclusion Il follows.

Question ID : 26433070387
Status : Answered
Chosen Option : 4

Q.17

Ans

Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

TIDE: RRAU :: REST : PVPF :: GAME : ?

1. EZJU
< 2. HBNF
X 3.1COG
2 4. TZNN

Question ID : 26433057485
Status : Answered
Chosen Option : 1

Q.18

Ans

Select the option that is related to the third word in the same way as the second word
is related to the first word.

(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word)

Education : Teacher :: Treatment : ?

25 1. Hospital
2< 2. Labour
25 3. Medicine
«” 4. Doctor

Question ID : 26433079472
Status : Answered
Chosen Option : 4




Q.19 Which of the following numbers will replace the question mark (?) in the given series?
5,31,161,811,?

Ans X 1.4500
X 2.4825
X 3. 4444
o 4. 4061

Question ID : 26433082010
Status : Not Answered
Chosen Option : --

Q.20 Select the set in which the numbers are related in the same way as are the numbers of
the following set.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(25, 280, 45)
(18, 192, 30)

Ans X 1.(12, 156, 24)
X 2.(14, 192, 24)
« 3.(12, 148, 25)
X 4.(13, 168, 54)

Question ID : 26433076481
Status : Not Answered
Chosen Option : --

Section : Part-B-General Knowledge and General awareness

Q.1 "to defend the country and render national service when called upon to do so" is
stated under

Ans X 1. Preamble of the Constitution
/< 2. Directive Principles
«” 3. Fundamental Duties

/< 4. Fundamental Rights

Question ID : 264330115628
Status : Not Answered
Chosen Option : --

Q.2 On the banks of which river was the war between Harshavardhana and Pulakeshin Il
fought?

Ans & 1. Narmada
#< 2. Krishna
< 3. Godavari
X 4.Ganga

Question ID : 26433089128
Status : Not Answered
Chosen Option : --




Ans

2 1. Men-7.5 kg Women-4.5kg
2 2. Men-7.3 kg Women-4.5kg
25 3. Men-7kg Women-4kg

o« 4. Men-7.26 kg Women-4kg

Q.3 In shot put, the shot which is a metal ball weighs how many kg for men and women?

Question ID : 264330115942
Status : Not Answered
Chosen Option : --

Ans

" 1.two
< 2. four
& 3. five
X 4.0ne

Q.4 How many pathways are constructed as independently organized conducting tubes in
plants?

Question ID : 264330115204
Status : Not Answered
Chosen Option : --

Ans

Q.5 The tenure of the UPSC members is .

«” 1. 6 years or age of 65 whichever is earlier
5 2.6 years or age of 62 years
/< 3.5 years or age of 65 years
25 4. 4 years or age of 62 years

Question ID : 26433089963
Status : Not Answered
Chosen Option : --

available vaccines for children up to

Q.6 The ultimate goal of Mission Indradhanush is to ensure full immunization with all

years of age.

< 2.2007-2012
#< 3.2005-2010
< 4.2004-2009

Ans X 1.three
« 2. two
< 3. eight
X 4. five
Question ID : 264330116167
Status : Not Answered
Chosen Option : --
Q.7 What was the term of 10th Five Year Plan?
Ans 7 1.2002-2007

Question ID : 264330116120
Status : Answered
Chosen Option : 1




Q.8 Who among the following inaugurated 2-day PM Kisan Samman Sammelan of India in
October 20227

Ans X 1. Nirmala Sitharaman
< 2. Amit Shah

«” 3. Narendra Modi

/< 4. Rajnath Singh

Question ID : 264330114956
Status : Not Answered
Chosen Option : --

Q.9 InIndia, in relation to Census, what is the full form of NPR?
Ans X 1. National People Register

/< 2. National Population Record
«” 3. National Population Register
/< 4. National People Record

Question ID : 264330116030
Status : Not Answered
Chosen Option : --

Q.10 Which sector runs nearly 60 percent of dispensaries in India?

Ans X 1. Cooperative sector
«” 2. Private Sector
< 3. Joint Sector
25 4. Public Sector

Question ID : 264330115557
Status : Not Answered
Chosen Option : --

Q.11 Saga Dawa is primarily celebrated by which of the following communities of India in
Sikkim?

Ans X 1.Sikhs
2 2. Hindus
« 3. Buddhists

& 4. Jains
Question ID : 264330105968
Status : Answered
Chosen Option : 3
Q.12 Microfinance is a service.

Ans & 1. financial
< 2. production
/< 3. software production

< 4. waste management

Question ID : 264330115310
Status : Not Answered
Chosen Option : --




Q.13 Bihu is the popular dance form of which of the following states?
Ans X 1. Tamil Nadu

X 2. Telangana

5 3. Kerala
o 4. Assam
Question ID : 26433071420
Status : Answered
Chosen Option : 4
Q.14 The Hindustan Socialist Republican Association (HSRA) was founded at in
Delhi.

Ans 1. Ferozeshah Kotla
< 2. Mughal Garden
2 3. Red Fort
/< 4. Safdarjung Tomb

Question ID : 26433089888
Status : Not Answered
Chosen Option : --

Q.15 Who is the new Managing Director of the National Bank for Financing Infrastructure
and Development (NaBFID) effective August 8, 20227

Ans X 1. Sumita Dawra
«” 2. Rajkiran Rai
< 3. Arun Kumar Singh
< 4. Pankaj Jain

Question ID : 264330115013
Status : Not Answered
Chosen Option : --

Q.16 In India, the Green Revolution increased the production of which of the following?
Ans X 1.Eggs

«” 2. Wheat

/< 3. Cotton

2 4. Coal

Question ID : 264330115418
Status : Answered
Chosen Option : 2

Q.17 Which among the following elements behaves like alkali metals as well as halogens in
its properties?

Ans X 1.Neon
2 2. Helium
o 3. Hydrogen
25 4. Lithium

Question ID : 264330115175
Status : Not Answered
Chosen Option : --




Q.18 In which year the Asian Games were held for the second time in India?
Ans X 1.1941

X 2.2015
 3.1982
X 4.1978

Question ID : 264330116249
Status : Not Answered
Chosen Option : --

Q.19 What is used to measure the magnitude of an earthquake?
Ans X 1. Anemometer

5 2. Pressure sensors
< 3. Gravimeter
«” 4. Richter Scale

Question ID : 264330115993
Status : Answered
Chosen Option : 4

Q.20 Who won the Sangeet Natak Akademi Award in Manipuri in 2018?
Ans X 1. Radha Sridhar

/< 2. Pasumurthy Ramalinga Sastry
< 3. Madambi Subramanian Namboodiri

«” 4. Akham Lakshmi Devi

Question ID : 264330115821
Status : Not Answered
Chosen Option : --

Section : Part-C-Elementary Mathematics

Q.1 The ratio of two numbers is 4 : 5 and their HCF is 6. Their LCM is:
Ans 7 1.120

X 2.88
X 3.168

X 4.72

Question ID : 26433091517
Status : Answered
Chosen Option : 1

Q.2 A toy is bought for Rs.950 and sold at Rs.1140. Find the gain percentage.
Ans X 1.16%

X 2.21%
 3.20%
X 4.19%

Question ID : 26433075144
Status : Answered
Chosen Option : 3




Q.3 ¥x were borrowed at the compound interest rate of 5% per annum, 3 years back, where
interest were compounding annually. If the present value of the money borrowed is ¥

18,522, what is the value of x?

Ans 1 216,000
X 2. 215,500
X 3. 215,000
X 4. 16,500

Question ID : 26433075562
Status : Not Answered
Chosen Option : --

The total surface area of a hemisphere of diameter 14 cm is (Use = ?)

Ans X 1308 cm?

72 462 cm?
X 31232 cm?
X 4. 2156 cm?>

Question ID : 26433075747
Status : Answered
Chosen Option : 2

Q.5 Reeta can do a piece of work in 14 days and Geeta can do the same work in 21 days.
How many days Reeta and Geeta take together to complete the same work?

Ans 7 1.84
<264
< 3.88
< 4.6.8

Question ID : 26433075700
Status : Answered
Chosen Option : 1

Q.6 Find the greatest number which on dividing 1780 and 2452 leaves the remainder 4 in
each case.

Ans 7 1.48
X 2.52
< 3.16
K 4.24

Question ID : 26433081468
Status : Answered
Chosen Option : 4




a7 The mean proportional between 4 +21J§ and & —31f§ is:

Ans ‘,1'1#{‘6
X2 4/18
X3 412
X4 4/8

Question ID : 26433081026
Status : Answered
Chosen Option : 1

Q.8 If the price of petrol is increased by 40%, by what percentage (rounded off to 1 decimal
place) should its consumption be decreased so that the expenditure on petrol remains

the same?

X1 257%
v 2. 28.6%
X3 40.5%
x4 355%

Ans

Question ID : 26433082780
Status : Not Answered
Chosen Option : --

Q.9 The total surface area of a cuboid is 4200 cm? . If the length and breadth of the cuboid

are 15 cm and16 cm, then find the height of the cuboid.
Ans X 1.3720 cm

X 2.62cm
« 3.60 cm
25 4.70 cm

Question ID : 26433085494
Status : Answered
Chosen Option : 3

Q.10 Sumati travelled from point A to point B at 475 m/min. The moment that Sumati

reached point B, Rachna set off from point B, at a speed 1.6 times the speed at which
Sumati travelled and reached point C. If the total distance covered from A to C through
B was 45.6 km and the time taken from when Sumati started from point A to when

Rachna reached point C was 75 minutes, what is the distance between A and B?

Ans 7 1.19km
< 2.20 km
5 3.18 km
X 4.17 km

Question ID : 26433075295
Status : Not Answered
Chosen Option : --




Q.11 Two numbers P and Q are such that the sum of 8% of P and 4% of Q is two-third of the
sum of 5% of P and 7% of Q. Find the ratio P : Q.

Ans 1. 711
2 2:5
w3 1:7
X4 4:9

Question ID : 26433081573
Status : Not Answered
Chosen Option : --

Q.12 In a golf club, 90% of members are men and the remaining are women. The average
height of men is 170 cm and the average height of women is 165 cm. Find the average
height of the club members.

Ans X 1. 168.5
X 21675
< 3.1705
& 4. 1695

Question ID : 26433075905
Status : Answered
Chosen Option : 4

Q.13 A can do a piece of work in 18 days. B can do this work in 24 days. A started the work
alone. After how many days should B join him, so that the work is finished in 15 days?

Ans o 1.11days
/< 2.19 days
25 3.13 days
< 4.14 days

Question ID : 264330116851
Status : Not Answered
Chosen Option : --

Q.14 Find the distance covered by a car moving at a speed of 48 km/h for 3 hours 15
minutes.

Ans 7 1.156 km
< 2.165km
< 3.145km
< 4.154 km

Question ID : 26433076199
Status : Not Answered
Chosen Option : --




Q.15 Successive discounts of 10%, 15% and 4% on ¥12,500 are equal to:
Al
@1 33,320

X 2. ¥4,150
X 3. 35,240
X 4. 34,520

Question ID : 26433080221
Status : Not Answered
Chosen Option : --

Q.16 After giving a discount of 25 percent, selling price of an article becomes Rs. 9510.
What is the marked price of the article?

Ans X 1.Rs. 11640
< 2.Rs. 10200
«” 3. Rs. 12680
/< 4.Rs. 10850

Question ID : 264330116736
Status : Answered
Chosen Option : 3

Q.17 By selling a commodity for Rs.15,000, Subir loses Rs.2,000. What is his percentage
loss?

o1 11309
17

Ans
X2 11%
X3 10%

x4 102320
AF

Question ID : 26433080305
Status : Answered
Chosen Option : 1

Q.18 The average marks in geography exam of a class of 25 students are 64. If the marks of
three students were misread as 44, 46 and 61 in lieu of the actual marks 54, 64 and 67
respectively, then find the correct average.

Ans X 1.65.45
& 2.65.36
X 3.64.55
X 4.64.54

Question ID : 26433076220
Status : Answered
Chosen Option : 2




Q.19 What will be the difference in the compound interest if a sum of Rs.12,000 is
compounded annually and half-yearly at an annual rate of 10% for a period of 2 years?
Note :Round off the decimal to the nearest number.

Ans ' 1.Rs.66
#< 2.Rs.196
/< 3.Rs.166
< 4.Rs.46

Question ID : 26433075075
Status : Not Answered
Chosen Option : --

Q.20 Teena spends 30% of her salary on food, 30% of the rest on fuel and saves the
remaining Rs.4,900. What is Teena’s salary?

Ans X 1.Rs.6,000
5 2.Rs.12,000
/< 3.Rs.8,000
4. Rs.10,000

Question ID : 26433076033
Status : Answered
Chosen Option : 4

Section : Part-D-English

Q.1 Select the most appropriate ANTONYM of the word given in brackets to fill in the
blank.

The company of friends made her feel (cranky), as she was all alone in her
apartment.

Ans X 1. awful
25 2. wishful
«” 3. cheerful
25 4. fearful

Question ID : 26433089747
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate synonym of the given word.
Fascinating
Ans ” 1. Interesting
< 2. Dominating
25 3. Revolting
25 4. Intimidating

Question ID : 26433073982
Status : Not Answered
Chosen Option : --




Q.3 Select the most appropriate ANTONYM of the given word.
Symbolise

Ans 7 1. Hide
X 2. Link
X 3. Slide
< 4. Align

Question ID : 26433066088
Status : Answered
Chosen Option : 1

Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Coherent

o 2. Frekquent
5 3. Collide
/< 4. Ferocious

Question ID : 26433073731
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate meaning of the given idiom.
Silver tongue
Ans X 1. Speaking to annoy people
/< 2. Speaking to bore people
«” 3. Speaking with an eloquent expression to convince people

/< 4. Speaking to discourage people

Question ID : 26433074442
Status : Answered
Chosen Option : 3

Q.6 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

She have / left by the time / | reach home.
Ans X 1.lreach home

25 2. left by the time
«” 3. She have
2 4. No error

Question ID : 26433071860
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate synonym of the given word.
Splendid
Ans X 1. Stationary
5 2. Authentic
«” 3. Spectacular
/5 4. Enticing

Question ID : 26433087913
Status : Not Answered
Chosen Option : --




Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Enterprising

«” 2. Maticulous
75 3. Erroneous
< 4. Potable

Question ID : 26433073507
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate meaning of the given idiom.

Public enemy number one

Ans X 1. A person who always smiles

«” 2. Someone who is the greatest threat to a group or community
/% 3. The opposition party leader

< 4. One who helps the poor

Question ID : 26433072573
Status : Answered
Chosen Option : 2

Q.10 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully:
Shakespeare was both a dramatist (better than) a poet.

Ans X 1.when not
< 2. as well as
X 3.or

«” 4. and

Question ID : 26433088798
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
| am been working_here for the past ten years.

Ans & 1. have been working here

5 2. is been working here
/< 3. was been working here

5 4. having been working here

Question ID : 26433091372
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.
Dignify
Ans & 1. Condemn
< 2. Adorn
X 3. Oblige
X 4. Cure

Question ID : 26433090781
Status : Not Answered
Chosen Option : --




Q.13 Select the most appropriate homophone to substitute the underlined word in the given
sentence.

These ornaments are coated with gold.
Ans X 1.gilled

& 2. gel
« 3. gild
& 4. guild

Question ID : 26433074013
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence to make it a meaningful sentence. If no substitution is required, select ‘No
substitution’.

One must not only have the ability to read voraciously but have the nec y training
in comprehending and remembering all the relevant details.

Ans X 1. not only have the ability for read voraciously but also have
5 2. not only have the ability to read voraciously but also had
25 3. No substitution

«” 4. not only have the ability to read voraciously but also have

Question ID : 26433092045
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Scientists are able to quickly the outbreak through a new immunisation.
Ans X 1.quench
< 2. scatter
< 3. quest
«” 4. quash

Question ID : 26433060336
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank no. 1.

Ans ¢ 1. audience
< 2. adult
5 3. accomplice

25 4. association

Question ID : 26433091359
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank no. 2.
Ans o 1. hindrance

/& 2. briefing
/5 3. catch
25 4. choice

Question ID : 26433091360
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans o 1. experience

/< 2. accorded
< 3. keened
X 4. saved

Question ID : 26433091361
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans X 1.merit

& 2. profit
< 3. money
«” 4. confidence

Question ID : 26433091362
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The ability to think clearly and calmly while addressing an 1. is neither inborn nor
difficult to develop. The presence of an audience should act as a stimulus and not as a 2.

to thought. Audience fright can be overcome through training and practice. Even
great speakers 3. stage fright and self-consciousness. Every speaker gets worked up
and experiences strain, shock, and excitement before he or she begins to talk. But every
speaker who is struggling to gain 4. should remember that all meritorious public
speaking is accompanied by a little 5.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.
Ans X 1. childishness

< 2. happiness
«” 3. nervousness

X 4. trick

Question ID : 26433091363
Status : Not Answered
Chosen Option : --

Section : Part-D-Hindi

Q.1 gof-hra srpfgat = vg= arar are gl
Ans 1. T T IU FT <8l |@al

X 2. 3 HREAT A 9gd AR &

X 3. Yaiil T T BT B

X 4. 9=, B 9Tl gl

Question ID : 26433063065
Status : Not Answered
Chosen Option : --




Q.2 fafifed ¥ F o ar $19-91 82
Ans 1 IRRFURII

X 2. 330 yfafes gaa S g1
X 3. AT S graR TR B
X 4. Fa 1 feR uer @i

Question ID : 26433085138
Status : Not Answered
Chosen Option : --

Q.3 fmfifEy e & fore Suged ardfe v &-
TR 7 FyT 1 aren

Ans ¢1.3rﬂ%1$
X 2.3
7 3.39H
< 4. HITa|

Question ID : 26433065750
Status : Not Answered
Chosen Option : --

Q.4 ¥g oMl B g GRS a2 R T BT BTl
Tuda ¥ faein 2reg @ arer goi H91
Ans X 1. 3ud
X 2. 3rgHe™
3. TRy
X 4. 3TN

Question ID : 26433080875
Status : Not Answered
Chosen Option : --

Q.5 fFrafifad aea & Rad @ & gad Suged GeTaT &1 gnn?
T 91 8 oY F S iy g SIeil

Ans X' 1. gRAT
X203
X 3@
4. REd

Question ID : 26433066736
Status : Not Answered
Chosen Option : --

Q.6 T A YWiTPd Mg P AT ¢ 3r=d] A IR Wg A T2
FATETETG & T & MY IR IHAT Tt WR g 511 f&ar |
Ans X 1. faet
& 2. 38
X 3. e
X 4. MR

Question ID : 26433074411
Status : Not Answered
Chosen Option : --




Q7 3 fpdbe F Ba A Tifiga A R ferm
e T @t i S TTes GRT AP HeTaR B T P

Ans X' 1. 79
X 2.3
& 3.5
X 4. Afeaar

Question ID : 26433062612
Status : Not Answered
Chosen Option : --

Q.8 g Yeg F fAwy A R}T MY arey F Raa W= Ft yfd sifere)
g e T QA YR DI U HAT AR
Ans X' 1.4d
o 2.3
X 3. TR
X 4 fm

Question ID : 26433063088
Status : Not Answered
Chosen Option : --

Q.9 fafifad el § @ $19 91 t@ are frar-fRRver § g @ 82
Ans X 1. i 31 I

2. RRITET AT B

X 3. B 1 § Sifeft s

X 4 Ry ST HEON

Question ID : 26433062955
Status : Not Answered
Chosen Option : --

Q.10 R 3 wreq & fere SR areiwr fRw e fawedt # @ gfw)
3difres

Ans X 1. SHAD PIEl
o 2. 3D PIAEL
X 3. e i SieusTd ae W@
25 4. Sl HH ST 81

Question ID : 26433062391
Status : Not Answered
Chosen Option : --

Q.11 FafafEa o & Weifed e & WM R Iuged yafgard 2 $19-a1 ghme
IR & 1Y ) IR 79w @t
Ans X 1. 37
o 2.7fd
2 3. 3fam
X4

Question ID : 26433066901
Status : Not Answered
Chosen Option : --




Q.12 weley g ¥ Ry Ihra s 2-
Ans X 1. f®T YR TaT B

X 2. @1 g daT gl

3. @ SR dar g

X 4. R T et |

Question ID : 26433065870
Status : Not Answered
Chosen Option : --

Q.13 gy § ¥Wifhd Weg & WIH W Fald Xeg BT G99 BT |

A BT TEAR BT Hb W 981 8
Ans X 1.73
X 2. guadt
X 3.@H
& 4 UR

Question ID : 26433065696
Status : Not Answered
Chosen Option : --

Q.14 H) | faeey # fadvor 99 Hraara® H1 ) § IR B2
Ans X 1. T0d, U, Fdedr

X 2. ASHYA, e, gerar

o 3. 93, o, gare
X 4. moff, uf, et

Question ID : 26433063030
Status : Not Answered
Chosen Option : --

Q.15 sft Fwr A A T=MT A Ve & e [utes ot fRaa & =9 & wrm)
19 W YT eq fUTHR &1 yafgard A 3-
Ans X' 1.qd
X 2.9
X 3.Re
o 4. T

Question ID : 26433080858
Status : Not Answered
Chosen Option : --




Q.16

Ans

Comprehension:

Frafafed Te o 9§ 39 Yea get fau e 71 T T faw e ot weradn & Rad i @t gfd
BT | T WA o 1Y SUGeHR fadhed &1 9u Hiford|

g d o 1. RIS 2, U IP! §1 TR i A9 DU § TRE-TRE
3. MR BRI B AR A4, GHER-TA BU 360 & 37 96 qe
5, , R

SubQuestion No : 16
o T 1 9 gl & fore wafftre Suges fawen =1 o= Fifsel
& 1.TF
X 2.9
X 3.99
X 4. %9

Question ID : 26433079597
Status : Not Answered
Chosen Option : --

Q.17

Ans

Comprehension:

faffed e 9 3o v et iU e §1 faw g e ot e & Red v B gfd
BT | Tdeh WS o AT SUGH] fadhed 1 90 Hiforg|

gﬁmﬁw1 S 2, BU D! §| BRI T A DU & | ARG-ARE
. RN AgIR P dRR BN 4, SHER-UA 893 6d §1 37 9% ue §
5. , 3ER |

SubQuestion No : 17
e =i 2 A g & fore walfie Sy fawe &1 999 Fifvm|
X 1.8
X 2.9y
X 3. g
o 4. T€F

Question ID : 26433079598
Status : Not Answered
Chosen Option : --

Q.18
Ans

Comprehension:

Frofafed Te # ¥ 39 e gel fat U 71 T T fiwed ot weradr @ Red i 3 gfd
P YA BT & oY IUYH] fdhed BT 70 S|

gﬁmﬁm1 PRSI 2. BUIH! | TR IS A B 3| TRE-IRE
3. MR ARSI AR A4, GHHER-TA BU 36 & 37 96 ge
5, , JIER |

SubQuestion No : 18

feaa = 3 &) gfd & fore watfre Sugea fawen =1 9= Fifve)
K 1.PT
F2.F
X 3.9
X a4
Question ID : 26433079599
Status : Not Answered

Chosen Option : --




Comprehension:

Frafafed Te o 9§ 39 Yea get fau e 71 T T faw e ot weradn & Rad i @t gfd
BT | T WA o 1Y SUGeHR fadhed &1 9u Hiford|

PR H o 1, HAS] 2. Y GBI ¢ | TARI Gich I BUN & | TRE-TRE
3. R A g R drerE § A 4, _ HER-UF SUd YEd 81 39 996 ga A
5, , JMER|

SubQuestion No : 19
Q.19 e W 4 F gfd & e gafftre Suge fawe o1 997 Fifvm|
Ans s 1.l
K 2.
X 3. dd
P |

Question ID : 26433079600
Status : Not Answered
Chosen Option : --

Comprehension:

faffed e 9 3o v et iU e §1 faw g e ot e & Red v B gfd
BT | Tdeh WS o AT SUGH] fadhed 1 90 Hiforg|

gﬁmﬁw1 S 2, BU D! §| BRI T A DU & | ARG-ARE
RN P ACE A4, GHER-UA B 6 8| 5 e ga i
5. , 3ER |

SubQuestion No : 20
Q.20 Yo R 5 B I & fore walfie Suged fawed &1 999 Fifvm|
Ans 1.
X 2.8
X 3.5l
X 4. Fife

Question ID : 26433079601
Status : Not Answered
Chosen Option : --
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